N—RIUXU

STOPPER BOLTS (SSB-A)

ABwWINIR)D Bssea)

NBK®

No.E-537

S45C
B2
QT —IDRBED, A/ SIREDFERICT,

OIREEBIFBEANUE I MEEFEIICT SN TVET,

BREERREAHRCAS L F
AT (21E) 18

G B
C D
—
- - ES
| \ L
A
[ faxs Rl rE
F—5"—No. No. AGEE) B . C : D E i F i G H @ | | =Bg | fiii8
18674 | SSB-M 6X30-A | M 6x1.0 = 30 235 35 10 115 4 45 R 4 105| 250
18675 | SSB-M 6Xx40-A | M 6x1.0 = 40 335 35 10 115 4 45 R 4 128/ 250
18676 | SSB-M 6X50-A | M 6x1.0 = 50 435 35 10 115 4 45 R4 15 | 250
18677 | SSB-M 8%30-A | M 8x1.25 30 213 5 13 15 55 6 R5 208| 250
18678 | SSB-M 8%40-A | M 8x1.25 40 313 5 13 15 55 6 R5 246/| 250
18679 | SSB-M 8x50-A | M 8x1.25 50 413 5 13 15 55 6 R5 285| 250
32547 | SSB-M 8X60-A | M 8x1.25 60 513 5 13 15 55 6 R5 323| 250
32548 | SSB-M10%X30-A | M10x1.5 = 30 20 55 17 196 7 7 R5 38 | 330
18680 | SSB-M10x40-A | M10X1.5 © 40 = 30 55 17 196 7 7 R5 43 | 330
18681 | SSB-M10X50-A | M10Xx1.5 = 50 40 55 17 196 7 7 R5 48 | 330
18682 | SSB-M10X60-A | M10x1.5 = 60 50 55 17 196 7 7 R5 53 | 330
18683 | SSB-M10x70-A | M10x1.5 = 70 - 60 55 17 196 7 7 R5 58 | 330
18684 | SSB-M12x40-A | M12x1.75 = 40 = 27.8 7 19 219 8 9 R8 63 | 350
18685 | SSB-M12x50-A | M12x1.75 50 378 7 19 219 8 9 R8 72 | 350
18686 | SSB-M12x60-A | M12x1.75 60 = 478 7 19 219 8 9 R8 81 350
18687 | SSB-M12x70-A | M12x1.75 70 578 7 19 219 8 9 R8 90 | 350
27332 | SSB-M16X50-A | M16x2 50 @ 35 9 24 277 10 12  R10 1M1 610
27333 | SSB-M16X60-A | M16x2 60 45 9 24 277 10 12  R10 125 610
27334 | SSB-M16X70-A | M16x2 70 55 9 24 277 10 12 R10 = 141 610
27335 | SSB-M16X80-A | M16x2 80 65 9 24 277 10 12  R10 : 158 610
gz

OvZFvhb

OvI v hES (I 2RI TERLTL

12E0,

http://www.nabeya.co.jp




	F214J_0476

